BENCH
BANC
BANCO




We are here to help!
Before you return it - contact us.

We do our best to insure that your furniture arrives in excellent condition. In the event that a part is damaged or
missing, we will be happy to provide you with replacement parts, at no charge, within 30 days of purchase,
providing the parts are available in our warehouse and the item purchased is part of our current inventory. In
order to receive spare parts, at no charge, you must provide proof of purchase within 30 days.

If you need assistance with assembly or replacement parts, please call our Customer Service, prior to returning
the item to the store.



Hardware list / Liste des pieces / Lista de tornilleria

A Wood screw (1/4"x 2-3/8”L) / Vis de bois / 8
Tornillo para madera

B | Shelf pin / Broche a étageére / Clavija para estante % 20

C | Wood Plug / Bouchon De Bois / Tapén De Madera @) 8

D Pan head screw (&1/8” x 5/8”L) / Vis a téte cylindrique / 8
Tornillo con cabeza cilindrica

Tools required / Outils requis / Herraminentas requeridas

Allen key / Clé hexagonale / Llave allen Supplied / Fourni / Incluido

Philips sprewdriver / Tournevis philips / - Not'supplied / Non fourni /

Destornillador estandar No incluido
IMPORTANT:

1. Do not tighten bolts completely until all bolts are completely lined up and inserted into holes / nuts.
2. Do not over tighten screws and bolts to avoid stripping.
3. Please use hand tools to assemble this product. Do not use power tools.

IMPORTANT:

1. Ne serrez pas complétement les boulons jusqu'a ce que tous les boulons soient complétement alignés et insérés
dans les trous / écrous.

2. Ne pas trop serrer les vis et les boulons pour éviter le décapage.

3. Utilisez des outils a main pour assembler ce produit. N'utilisez pas d'outils électriques.

IMPORTANTE:

1. No apriete completamente los pernos hasta que todos los tornillos estén alineados completamente y se inserten
en los agujeros / tuercas.

2. No apriete demasiado los tornillos y los pernos para evitar que se pelen.

3. Utilice herramientas de mano para montar este producto. No utilice herramientas eléctricas.



Part List / Liste Des Pieces / Lista De Piezas:

Seat Frame / Chéassis Du Siége / Armazon Del Asiento 01
Right Side Frame / Chéassis Droit / Armazén Derecho 01
Left Side Frame / Chassis Gauche / Armazén lzquierdo 01
Bottom Frame / Chassis Inférieur / Armazén Inferior 01
Divider Panel / Panneau De Partage / Panel Divisor 04
Shelf / Etagére / Estante 01
Shelf / Etagére / Estante 03
Shelf / Etageére / Estante 01
Back Panel / Panneau Arriére / Panel Trasero 01




‘IlI\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\»

02




02

III\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\»

A




‘III\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\> 04

A










10.

/ N
/ AN
/ AN

/
2
/
/
/
/
/
/
2
/
2
/
2
/
/
/
/
2
Do
/
/
/
/
/
/
/
/
/
/
/
/
/
/ z

/
/

9|

Y

08

N
N

/

7

COMPLETED ASSEMBLY
ASSEMBLAGE TERMINE
ENSAMBLAJE TERMINADO

WEIGHT LIMITS

POIDS LIMITE

LIMITE DE PESO
SEAT: 275 LBS

COUVERCLE: 275 LBS
CUBIERTA: 275 LBS

-10 -




LIMITED 6 MONTHS WARRANTY
GARANTIE LIMITEE DE 6 MOIS
GARANTIA LIMITADA DE 6 MESES

WHAT IS COVERED QU'EST-CE QUI EST COUVERT QUE ESTA CUBIERTO

This product is covered under our
manufacturer's 6 months limited warranty.
To ensure your complete satisfaction, this
warrants tothe original purchaser that the
supplied item is free from defects in material
and workmanship, as of the date of
purchase, and that it will under normal use
and proper care, remain so for six months
after the date of purchase.

Replacement of missing or initially defective
parts will be sent, at no charge, for a period
of 30 days from the date of purchase with
valid proof of purchase providing the parts
are available in our warehouse and the item
purchased is part of our current inventory.

Ce produit est couvert sous une garantie

limitée de 6 mois offerte par le fabricant. Afin
d'assurer votre entiére satisfaction, cela garantit
a l'acheteur original que le produit fourni est
exempt de défauts de matériaux et de fabrication
a compter de la date d'achat, et ce, sous des
conditions d'utilisation normales et de soins
adéquats, valide pendant six mois aprés la date
d'achat.

Le remplacement de piéces manquantes ou
défectueuses dés le départ sera envoyé, sans
frais, pour une période de 30 jours suivant la
date d'achat avec une preuve d'achat valide
pourvu que les piéces soient disponibles dans
notre entrepdt et que I'article acheté fait partie
de notre inventaire actuel.

Este producto esta cubierto por la garantia limitada
de 6 meses de nuestro fabricante. Para asegurar
su total satisfaccion, ésta garantiza al comprador
original que el articulo proporcionado se encuentra
libre de dfectos materiales y de fabricacion, a
partir de la fecha de compra, y que permanecera
en tal estado, sometido a un uso normal y cuidados
adecuados, durante los seis meses posteriores a
la fecha de la compra.

Las partes faltantes o que presenten defectors al
inicio de ese periodo de tiempo seran enviadas sin
cargo, durante un lapso de 30 dias a partir de la
fecha de compra, mediante la presentacién de un
comprobante de compra valido, siempre que las
partes estén disponibles en nuestro almacén y el
articulo adquirido sea parte de nuestro inventario

WHAT IS NOT COVERED

It remains the customer's responsibility for
freight and packaging charges to and from
the customer service center. Labor and
material charges to remove or replace parts
under this warranty are not covered.

This warranty does not cover: Furniture used
for commercial purposes, failures caused by
improper installation assemply or by improper
care, unreasonable or abusive use, freeze
damage, acts of God, rust, purchased parts
or return freight and packaging charges.
Proof or purchase ( dated register receipt) is
required for this warranty claims.

HOW TO OBTAIN SERVICE

For further information, please contact our
customer service department.

MADE IN VIETNAM
FABRIQUE AU VIETNAM
HECHO EN VIETNAM

QU'EST-CE QUI N'EST PAS COUVERT

Il'y va de la responsabilité du client de vouvrir
les frais de transport et d'emballage vers et a
partir du centre de service aprés-vente. Les
frais de la main-d'oeuvre et des matériaux pour
retirer les piéces ou les remplacer sous cette
garantie ne sont pas couverts.

Cette garantie ne couvre pass: les meubles
utilisés a des fins commerciales, les
défaillances causées par un mauvais
assemblage ou entretien( sans dépasser les
limites de poids). I'utilisation déraisonnable ou
abusive, les dommages causés par le gel,

la rouille, les frais de transport et d'emballage
pour des pieces achetées ou retournées.

Une preuve d'achat( re¢u de caisse daté) est
requise pour les réclamations sous garantie.

COMMENT FAIRE POUR OBTENIR DU
SERVICE

Pour de plus amples renseignements, veuillez
communiquer avec notre département du
service a la clientéle.

-11 -

actual.

QUE' NO ESTA CUBIERTO

El cliente asumira los costos de flete y
empaque hacia y desde el centro de servicio
de cliente. Los cargos de material y mano de
obra para extraer o mreemplazar partes en el
marco de la ganrantia no estan cubiertas.

Esta garantia no cubre: muebles utilizados
con fines comerciales, fallas causadas por
montaje de instalacién inadecuados o uso
indebido( se recomienda no exceder los
limites de peso), uso no razonable o abusivo,
dafos por congelacion, oxidacion, partes
compradas, flete de devolucién y cargos de
empagque. Se exigira el comprobante de
compra( la factura de registro con fecha)
para hacer valer la garantia.

COMO OBTENER SERVICIO

Si desea mas informacion, péngase en
contacto con nuestro departamento de servicio
al cliente.



	850020WAL01U
	850020WAL01U
	850020WAL01U
	850020WAL01U



	3
	850020WAL01U

